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2014 – Economics MCQ – Chapter 1 – Central Problem of Economics
1. The diagram shows the production possibility curves LL’, MM’, NN’. The country operating at full employment on MM’. An epidemic resulted in the death of thousands of people in the country.
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Which of the following points, A, B, C or D would the country be operating on after the epidemic if there is unemployment present?


2. The diagram shows an economy’s production possibly frontier
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What does the slope of the curve measure?

A. the opportunity cost in terms of industrial goods of producing an additional unit of agricultural goods
B. the maximum quantity of industrial goods that can be produced for any given level of agricultural output
C. the maximum attainable combinations of agricultural and industrial goods
D. the relationship between the total resources devoted to the production of agricultural goods and industrial goods
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10. Mr. A allocates his expenditure over time. What could cause a decrease in the opportunity cost to Mr. A of current consumption?
A. A decrease in his current income
B. A decrease in interest rates
C. An interest in income tax rates
D. An increase in contributions by his current employer to the CPF

11. Why are production possibility curves concave to the origin?
A. Because resources are limited
B. Because resources are not perfect substitutes
C. Because resources do not have alternative uses
D. Because of the existence of increasing returns to scale
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What does the shift in the production possibility boundary from XY to XZ illustrated in
the diagram above indicate?

A better utilisation of existing resources.

‘An increase In ine opportunity cost of consumer goods.

‘An increase in the opportunity cost of capital goods.

There is technological advancement affecting the production of capital
goods
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The diagram below shows the production possibility curves before and after a
discovery of a new fertilizer taat affects the production of agricultural goods.

Agricultural goods
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‘Which one of the following distarces represents the change in the opportunity
eost of producing OD amount of agricultural goods in terms of capital goods?

A AC
B AB
C BC
D DE
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The price mechanism helps to allocate resources efficiently because

A itresulis in lower rewards being paid to factors of production when -
demand for the product they produce increases

B it willlead to a distribution of output amongst individuals on the basis
greatest need

€ the prices of non-renewable resources will tend to rise as the stock of <.
resources nears depletion

D it will always ensure that competition between firms prevents high prof-

being eamed
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‘Which of the following statements

LmN e Geedx

istrue?

A The country is now more productively efficient ha before.

B Itis possible for the country to

produce more of both Good X and Gooc

€ Ltis preferable forthe coury 0 produce more of Good X and less ot

Good .
D The opportunity cost of produc
has ncreased from LM to MP,

ing 0K units of Good Y i terms of Good
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A student spent $100 on a concert ticket that lasted 3 hours. Which of'
{ollorving cannot be consicered s partofhis opporaunity costs of govag -

The amount of sléep that he could have gained.

The time he could have spent studying for a test,

The money he could have eamed at his part.time job,

“The S100 vorth of sports atir that he could have bought,

Tows
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The diagram shows the producton possbilty urve for a country.
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1 capital consuanption is 0T, an cconomy operating at point K can eventually
reach point I

A bymovingto point M.
B by improving its standard of living,
€ bymovingto point N

D by employing idle resources,
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Which of the following statements best describes a free good?

One that is freely provided by the government.

One that i given away in order to get the other good.
One that consumers do not want.

One that has zero opportunity cost.
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The diagram below shows a country’s PPF before and after technologic2
advancement.
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With technological advancement, what is the increase in opportunity cost of
producing OB of good X?

A. CG-HA
B. HA-BD
C. CA

D. .GA
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‘The diagram below shows two production possibility frontiers.

rice,

IS clothing

Movement from point X on frontier LM to point Y on frontier PN may be the
result of

A exporting clothing so as to increase consumption of rice.

B, increasing retums achieved by diverting more resources to the production of
rice.

C. increase in labour productivity as a result of investment in education.

D. putting the idle resources to work.
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The ‘shape of the PPC curve above suggests that the opportunity cost =
producing more consumer goods (from X to Y)

rises.

falls.

remains unchanged.
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The workers in 2 factory are currently earning $240 for a 40-hour week. The. management
offers them a choice between either a straight 25% wage increase or an increase
weekly wage of 5266 with a reduction in hours worked from 40 to 38, If leisure time is.
valued at 87 per hour, what is the opportunity cost to each worker if he opts for the 38 hour
week?

A 814 B $20 c 334 D $60





